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Question 1 

Raymond has a small business which manufacturers small toys. He has produced a 
summary of his costs and revenues below and has asked you to produce some 
management information.  

Fixed costs £420,000 
Variable cost £20 
Forecast output (Sales) 20,000 units 
Selling price £50  

Required: 

a) Calculate the Breakeven point in Units 
(4 marks) 

b) Calculate the Breakeven point in Sales 
(1 marks) 

c) Calculate the Margin of Safety in Units and in Percentage. 
(5 marks) 

d) Evaluate the usefulness of break-even analysis. 
(10 marks) 

Total marks 20 
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Question 2 

Marshall Ltd is considering investing in the following projects. 
The company anticipates a start-up investment cost of £3,000,000 for Project X and 
£2,000,000 for Project Y. Both will have a lifespan of 5 years. The net after tax cash 
flows of the projects are as follows:-  

 Project X 

(£) 

Project Y 

(£) 

1 675,000 800,000 

2 850,000 400,000 

3 850,000 300,000 

4 850,000 400,000 

5 800,000 700,000 

 

The discount factor is 10% for both the projects. 

Required: 

(a) Calculate the NPV of Project X and Y. 
(12 marks) 

(b) Justify,with reasons,which of the projects should be undertaken.  
Consider financial and non-financial factors. 

(3 marks) 
(c) Evaluate the NPV method of project appraisal. 

(5 marks) 
Total marks 20 
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Question 3 

Evaluate the budgeting process as a tool for decision making and control.  

(20 marks) 

 

Question 4: 

George Company has provided you with the financial statements for the last two 
years. 

Statement of profit and loss for the year end. 

 2020 

(£000) 

2021 

(£000) 

Revenue 440 330 

Cost of Sales (248) (192) 

Gross Profit 192 138 

Expenses (122) (88) 

Operating Profit 70 50 

Interest Payable (10) (10) 

Profit Before Tax 60 40 

Tax (11) (7) 

Profit After tax 49 33 

 
 
 
 
 
 
 
 
 
 
 

Question 4 continued over the page  
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Question 4 Continued 

Statement of Financial Position as at year end. 

 2020 

(£000) 

2021 

(£000) 

Non-current assets 405 361 

Current assets:   

Inventory 45 28 

Receivables 65 46 

Cash 7 10 

Total assets 

 

522 445 

Capital & Liabilities   

Capital 250 250 

Retained earnings 110 63 

   

Non-current liabilities 100 100 

Current liabilities 72 32 

Total Capital & Liabilities 522 445 

Required: 
 

(a) You are required to calculate the following ratios: 
I. Gross profit margin                                                                  (2 marks) 

II. Operating profit margin                                                            (2 marks) 
III. Return on Capital employed                                                     (2 marks) 
IV. Current Ratio                                                                            (2 marks) 
V. Quick Ratio                                                                               (2 marks) 

VI. Interest cover                                                                            (2 marks) 

Clearly show workings. 

 

Question 4 continued over the page  
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Question 4 Continued 

(b) In the light of your calculations comment on the performance of the company 
over the last two years. 

(8 marks) 
Total marks 20 

 
Question 5 

Olympus Company has provided you with the following standard and actual costs.  

Standard cost card - 
Granite 

Quantity usage / hour 
cost 

Total unit cost  
£ 

Material P2 4kg at £1.20 per kg 4.80 
Skilled Labour 1.2 hrs at £8.00 per hr 9.60 
Overheads 1.2 hrs at £15 per hr 18.00 
Total standard cost per unit 32.40 

The standard cost for a Granite was calculated assuming an output of 5,000 units  

Actual Costs/units  

During the last production period the actual output was 5,600 units. 22,960 kg of 
material was used at a total cost of £28,700.  

Skilled Labour – 8,000 hours worked at cost of £72,000.  

Calculate:  

I. Total Material Cost Variance                                                    (4 marks) 
II. Material Price Variance                                                            (3 marks) 
III. Material Usage Variance                                                          (3 marks) 
IV. Total Labour Cost Variance                                                      (4 marks) 
V. Labour Rate Variance                                                               (3 marks) 

VI. Labour Efficiency Variance                                                       (3 marks) 

Total 20 marks 
 
 
 
 
 
 

PAPER END OF QUESTION 
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Present Value Table  

Present value of 1 i.e. (1 + r)-n 

Where r = discount rate and n = number of periods until payment  

Discount rate (r) 
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